
Instructions Polaris RS1

STEP ONE – Optional Roof Seal: Remove the backing to the adhesive  
foam and put it along the top forward facing edge as seen in the picture. 

STEP TWO – Mount the bracket with threaded insert on the bent flange at the bottom of the windshield.  
Start the 10-24 bolts and nuts but don’t tighten. Leave the bracket loose to align the handle later.  The 
bracket will be on the right side of the windshield if you are sitting in the machine.

STEP THREE – Bolt the handle assembly to the flap and adjust the bracket with insert to keep the handle 
parallel and spaced evenly between the faces of the two parts.  Tighten the loose bolts on the bracket.

STEP FOUR – Place the billet 
clamps on the frame in the ap-
proximate locations and tighen 
with the 2” bolts enough to 
hold in place but still allow slight 
movement.  Bolt the windshield 
to the clamps using the 1/2” 
bolts and flat washers.  Adjust 
windshield to desired location 
and tighten all the bolts.

Install windshield wiper if applicable. There is another instruction sheet for wiper install.

Upper Clamp Orientation

Foam Placement

4 – Universal Billet Clamp  1.75”

4 – Bolt  1/4-20 × 2”

4 – Bolt  1/4-20 × 1/2” 

4 – Bolt  10/24 × 1/2”

4 – Locknut 10/24

4 – Flat Washer 1/4”

1 – Handle Assembly

1 – 3/8” × 1/2  Adhesive Foam (21”)

4 – Lock Washer


